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Mother's Arithmetic • Time & Work

1. Two pipes A and B can fill a tank in 16 hours

and 20 hours respectively. They are opened
alternatively for 1 hour each, starting with pipe

A first. In how may hours will the empty tank

be filled?

A B 

A 

(A) 
3

17
5

(B) 
1

17
5

(C) 
1

17
14

(D) 
3

17
4

2. Two pipes A and B can fill a tank in 
1

6
3

 hours

and 
1

9
2

 hours respectively. They are opened

alternately for 1 hour each, starting with pipe

A first. In how many hours will the tank be
filled?

A B 
1

6
3

 
1

9
2

A 1 

(A) 
1

5
2

(B) 
1

4
2

(C) 
1

6
2

(D) 
1

7
2

3. Tap A and B can fill the tank in 10 and 20 hours
respectively. Where tap C can empty it in 12

hours. If tap A, B, C are opened alternatively

then in how many hours tank get filled?

A B 10 20

C 12

A, B C

(A)
2

40
3

hour/ (B)
1

20
3

hour/

(C)
2
8
3

hour/ (D) None of these

4. A, B, C are three pipes attached to a cistern. A
and B can fill it in 5.5 min and 4.4 min respec-
tively while C can empty it in 3.3 min. If A, B, C
kept open successively for 1 min each, how
soon the cistern will be filled?

A, B, C A B 

5.5 4.4 C 3.3

1-1 

(A) 
1

20
4

 min./ (B) 
1

27
4

 min./

(C) 
1

31
4

 min./ (D) 
1

29
4

 min./

5. a tap A can fill a tank in 20 hours where tap B
can fill it in 40 hours. The full tank can be emp-
tied by C in 30 hours. If A is opened with B and
C for alternate hours one-by-one then find in
how many hours the tank get filled?

A, 20 B 40

C 30 

A B C

(A) 
1

21
2

(B) 
2

52
3

(C) 
4

24
11

(D) None of these

6. Three pipes A, B, C are attached to a cistern.
Pipe A and B can fill the cistern in 20 and 30
hours respectively and the pipe C can empty it
in 60 hrs. Pipe A and C are opened for the 1st
Hour and the pipe B and C are opened for the
next hour and this process continues till the
cistern get filled. In how much time the tank
will get filled ?

A, B, C A B 

20 30 C 60

A C 

B C 

(A) 30 hours/ (B) 40 hours/ 

(C) 45 hours/ (D) 20 hours/ 

16
TYPE
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7. Pipes A, B and C can fill a tank in 30, 60 and

120 minutes respectively. Pipes B and C are

kept open for 10 minutes, and then pipe B is

shut while Pipe A is opened. Pipe C is closed

10 minutes before the tank overflows. How long

does it take to fill the tank ?

A, B C 30, 60 120

B C, 10

B A

10 C

(A) 30 minutes (B) 20 minutes

(C) 40 minutes (D) None of these

8. A, B and C can fill a tank in 10, 20 and 25 hours

respectively. In the starting they all are opened

together and after 2 hours pipe C is closed and A

& B are left opened, after fourth hour, pipe B is

also closed and the remaining tank is filled by A

alone. How much percentage of water is filled by

A alone?

A, B C 10, 20

25 

2 C A B 

B 

A A 

(A) 72% (B) 52%

(C) 75% (D) None of these

9. Pipes A and B can completely fill a water tank

in 4 hours and 5 hours respectively. A pipe C

can empty a tank filled completely with water

in 3 hours. Initially, the tank is empty and all

pipes are closed. Pipe A is opened first at time

t = 0 and pipe C is opened at the instant when

the tank is exactly half filled with water. Pipe B

is opened after pipe C and at the instant when

tank is exactly 
1

4
th filled with water. Find the

total time taken to fill tank completely count-

ing from t = 0.

A B 

C 

A t = 0

C

B C 

1

4
t =

0

(A) 11 (B) 6

(C) 
45

7
(D) 

80

7

Answer

1. (D)

A

B

16

20

5

4 80

2hrs  9

Multiply by 8

16 hrs  72

+1hrs +5 Units

17hrs  77

 Remaining will be filled by B

 
3

17
4

 hrs  80

2. (D) A

B

19
 3

2
3

19
19
 2

AB
5

AB
5

AB
5

2 hours

 5  2 hours ]× 3

15  6 hours

 Remaining 4 will be filled by A in 1 hour

 Total time = 6 + 1 + 
1

2
 = 

1
7

2
 hours

3. (A)
A

B

C

60

6

3

–5

10

20

12

(–ve is for outlet tap)

(A+B+C) work on alternate days.

 work in 3 hours = 6 + 3 – 5 = 4 crocks

3 hour × 13 = 4 × 13 = 52 crocks

Now, A come to work, work of A = 52 + 6 = 58

crock

Remaining work = 60 – 58 = 2 crock

Time by B in remaining work = 
2

3
day

Total time = 
2

40
3

days
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4. (B)      

A     5.5

B     4.4

C     3.3

66

12

15

–20

      work in 3 day = 12 + 15 – 20 = 7

3 hr         7

9         ×9

27 hr    63

           
3

27
12

 =  
1

27
4

 days

5. (A) A

B

C

120

6

3

–4

20

40

–30

(Tap C will empty, therefore its work will

be negative)

1 hour work of (A + B) = 6 + 3 = 9

1 hour work of (A+C) = 6 – 4 = 2

 work in total hour = 11

 work in 2 × 10 = 20 hours = 11 × 10 = 110

Now, 1 hour work of (A + B) = 9

Remaining work = 120 – 119 = 1

Time by (A + C) in remaining work = 
1

2
 hour

 Total time = 20 + 1 + 
1

2
 = 

1
21
2

 days

6. (B)      A     20

B     30

C     60

60

3

2

1

          

AC   BC

   2   1

3 – 1   2– 1

3 Part is filled in 2 hr.

3 part    2 hr

×20         ×20

60 part       40 hours

7. (A) A

B

C

4

2

1

30

60

120

120

Let tank was filled in x minutes.

ATQ,

4(x – 10) + 2 × 10 + 1 (x– 10) = 120

5(x – 10) = 100

x = 30 minutes

8. (A)

100

10      A      10

  5      B      20

  4      C      25

15  A+B

19 – A + B + C

B's work = 4 × 5 = 20

C's work = 4 × 2 = 8

A's work = 100 – 20 – 8 = 72

% work of A = 
72

100
 × 100 = 72%

9. (D) 15 A 4

12 B 5 60

20 C 3

Time to fill half tank by A = 
30

15
 = 2 hr

To extract 15 litre by (A + C) = 
15

5
 = 3 hr

To fill tank completely Time

= 
45

15 12 20

= 
45 3

6
7 7

 hr.

So, Total time from (t = 0)

= 2 + 3 + 
3

6
7

 = 
3

11
7

 hr = 
80

7
 hr.


